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Which one of the follewing statements is
not correct ?

(a) Real GDP is calculated by valuing
outputs of different years at eommon
prices.

(b} Potential GDP is the real GOF that the

economy would produce if its resources

were fully employed.

(¢} Nominal GDP is calculatéd by valuing
cutputs of different yesrs at constant

prices.

{3 Real GDP per capita 18 the ratio of real

GDF divided by population.

The mismatch in the regional or ceoupational
pattern of job vacancies and the patiern

worker availabihty results in

{g) Structural unemployment |
(k)  Disguised unemployment
{et  Altered unemployment
{d} Cyclical unemployment i

|
The situstion in an econory which iz growing
glowly along with rapid inflation (rising price
levell is called
(a] Stagnation
{b} Detlation
(c) Stagflation
{d} Recession

(3~A)
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The incresse in private investment spending
induced by the increaze in Government

spending is known as
{a] Crowding in

(bt Deficit financing
fc) Crowding out
{d) Pumping out

The asset or assets that a borrower pledges in
order to guarantee repayment of a loan is
called as

(a) Cheque

(kY Collateral

fe}  Guarantee card

(d} Bond

The percentage by which the money the

horrower pays back exceeds the money that
wasa borrowed is called as

ia} Bank rate
(b

il Real interest rate

Nominal intereat rate

'd)  Terms of credit

Which one of the following statements about
the Fandhi-Irwin Pact of 1931 is correct ?

{a) The Government would not release
those prisoners who had  been

non-vialent.

The Government would not release
those priseners who had indulged in the
peacefu]l picketing of lguor and foreign
eloth shops.

(b}

fe) The Conpresz did not agres to the
snspension of the Civil Discbedience
Movement.

{d}) The Congress agreed to take part in the

Second Eound Table Contercnce.

& 022-41237666



Whoe among the following founded the Bhil
Beva Mandal in 1922 7

{a} Dayaram Gidumal
(bl Gurusaday Dhutt
(¢  Dhonde Keshav Karve

(d} Armritlal Vithaldas Thakkar

H In 1911, whe among the following introduced a
bill in the lmperial Legislative Council for
intraduction of compulsory and free primary
education in India ?
fa} Dadabhai Naoroji
(bl Bal Gangadhar Tilak
{e)  Bir Harcourt Butler
{d} Gopal KErighna Golhale
10. Which one of the following statements about
the Act ¥ of 1843 relating to Slavery in India
15 correct ?
fa]l It gave the masters the right to wilfully
keep their slaves tied to their estates.

(b} It denied the masters the use of Courts
to agsert their claims on slaves.

fel The Law Courts and masters worked
jointly in resolving the cases of
desertion,

{d) The slaves became the cwnera of the
land.
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11.

13.

(3-A)

Which Maratha statesman sigoned the Treaty

of Bassein on December 31, 1802 ?
{a) Baji RapII

(b}  Vithuji Holkar

{c} Daulat Rao Jindhia

{d} Madhawva Rao Narayvan

The Amare-Neyeke system was g major
political innovation of which Indian imperial
rulers ?

fa) Cholas

()  Chalukyas

ic) Guptas

{d) Vijayanagara

KIRAN (Knowledge Involvement in Research
Advancement through Nurturing) is an
initiative to provide opportunities to women

agentists who

{a) had a break in their career due to family

TEASHIIS,

(h) are pursuing innevative research in life
BCLETICES,

{e}  have collaboraiive projectz with labs in

foreign countries.

leading  edge
Nano-Science and Technology.

{d)» have projecta in




14, NIDHI is an umbrella scheme for the|18. Which of the following statements about the
promotion ef Pradhan Mantri Gram Sadsk Yojana are

{a) young and aspiring innovators. COpTRILS

1. It is part of Government of India’s
puverty reduction atrategy.

{b} scientific regearch,

(e} primary health care.

2. It iz a centrally sponsered scheme for

d 3 tion i 1 12
(d}  primary education in rural areas rural development.

3. It provides conneetivity in rural areas,
15. The Savhhagya Scheme xims at universal < Y

Select the correct answer using the code given
(a) LPG connection.

below :

{b} household electrification.
{a} 1,%and?3

{c) primsry gchool education.
{b} 1and3only

{d) public health insurance.
{c) 2Zand Jonly

16. Mission Indradhanush aims at (@)  1landZenly

(a) reducing child deaths due to pneumonia. | yg,  India's territorial limit extends towards the

(b) reducing the impact of rotavirus. sed up to
fe}  elminaticn of maternal tetanus, {a) 10 nautical miles
(d)  full immunisation of children. (k) 12 nautical miles

tcd 14 nauticel miles
I7. Which one of the following statements about
the DU — GKY is not correct ?

(d} 15 neutical miles

{a} . Itis a skill training programme. 20. Which one of the fallowing iz a cold ocean

1 current ?
(b} Ttis for rural youth from poor families.

{a} Brazilian Current
(¢} Tts objective iz placement in wage

(bl Gulf Stream

employment.
(d) It relies entirely on skill training by (c}  North Equatorial Current
Government ageticiés. (d} Clalifornia Current
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21. Identify the type of soil on the basis of the
given characteristics ;
s They are rich in lime, iron, magnesia
aud alumina,
2. They are generally clayey, deep and
impermesable,
q They are mainly found in Maharashtra,
Madhys Pradesh and Gujarat.
Belect the correct answer from the given
alternatives :
ta} Laterite soil
{b} Red and yellow soil
{c) Baline zeil
{d} Black soil
22, Arabica, Robusta and Liberica are varieties of
{a] Coffee
(b} Tea
] Sugarcane
(d) Cotton
23. Aluminium is manufactured from
(s} Copper nre
(b} Bauxite ore
(e} Micaore
td) Manganese ore
24. Which one of the following sea poarts gained |
gignificance for handling iron-ore exports to
Japan 7
{a) Kandly
(b}  Ennore
{e)  Knchi
{d) Mormugao
XVWS-D-GNL

26.

27.

28.

(8-A}

Which one of the following is net a function of
money ?

{(a)  Acts as an intermediate in the exchange
process

(h)  Arcts as = store of value
{c)  Uszed as the unit of gecount

{d]  Used for regulating eonsumption

The situation where the equilibrium level of
resl GDP falls short of potential GDP is
known as

ta) Recessionary gap

(b} Inflationary gap

(¢} Demsand-side inflation

{d) Supply-side inflation

The excese of total expenditure of Govornment
over its total receipts, excluding borrowings, is
known as

{fa) Primary deficit
th}  Fizeal deficit
fed  Current deficit
{d} Capital deficit

Exchange rates state the value of ohe currency
in terms of other currencies. Which one of the
following statements with respect to the
exthange rate of currency is correct ?

{a) Floating exchange rates are rates in

which the Governments interfere by
buying or selling their currencies.
(b} Fixed exchange rates are rates set by

Government decisions and maintained
by Govarnment actions.

() Under the Bretton Woods System, the
exchange rates are floated in termg of
Tise or fall in price of gold.

{d} Under the classical gold standard, the
exchange rates are fized in terms of
price of dollar.




30.

31.

Frangois Bernier was physician to
(a) Prinece Murad

{b}
{e) Emperor Shah Jahan

Pringess Jahanars

(d) Prince Dara Shikoh

Which one of the following British firms was
taken over by Soorgjmull-Nagarmull group ?
{a} McLeod

(hy Cketavius Steel

fe} Davenport -

{d} Andrew Yule

Which gne of the following statements with

regard to ryotwari settlement is no# correct ?

fa) In southern and western India, the
ryotwari settlement was adopted.

{b} Ryotwari was in principle a direct

eontract between the ryot and the state.

fc) It means a tax contract valid for usually
30 years.

id) In principle, it strengthened the former
elite, the zamindars and weakened the
peasantry.

32. Which ome of the following statcments about
the British Indian Medical Service (IMS) is
not correct ?
fa) IMS began in 1764,

{b) It recruited health professionals by
means of a competitive examination.

{¢) Indians were never admitted to IMS.

td] The IMS was at first meant to look after
the trocp:.

XNVWE-D-GNML

34.

35.

(41 =&}

When was the monopoly of China trade lost by
East India Company ¥

{a) 1813
{b} 1833
ey 1838
(d)  1B&0

National Disaster Management Authority is
headed by

{a} the Prime Minister.
(b} the Home Minister.
te)  the President.

¢d)  the Health Minister.

Which of the following statements regarding

the ‘casting vote’ in the Parliament isfare

zorrect ?

1. It iz caat by the apeaker or a person
acting as zuch.

2. It is cast in addition to voting in the first
inatanee.

3.  TItis cast in the case of equality of votes.

d. It is always cast to mainiain the status
quo.

Select the correct answer using the code given
helow :

{a) 1,2 and 3 only
(b) 1and 3 only
(¢} 2and4only
id} 3 only

Equality before the law or equal protection of
the laws within the territory of India is
guarantecd under which one of the following
Articles of the Constitution of India ?

{a} Article 14
{h) Article 15
fe)  Article 16
{d} Article 22




37.

‘Legal Pesitivism’ theory was developad by
fa} T.H. Green

ib] Thomas Hobbes
(¢} John Austin

tdl  Patrick Devlin

38, Who among the following said that Democracy
means a system of ‘Government by Consent® ?
{a} John Locke
by J.B. Mill
{c) Jeremy Bentham
{d} J.J. Roussean

39. Milpa and Ladang are different names for
fa) ehifting cultivation.
{b) mixed farming.
{c  truck farming.
(d) plantation agriculture.

40. Which one of the following approaches of
humean development was initislly proposed by
the Intermational Labour Organisation (110
and emphagised on health, edueation, food,
water supply, sanitation and housing ?
(a} Welfare approach
fb) PBasic needs appreoach
(e Ineome approach
(d} Capability approach

NWS-D-GNL
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42,

{(13-A)

Which one of the following tributaries of river
Indus feeds the canal system of the Bhalra
Nangel Project 7

{al] Chenab
(b)  Satluj
(¢} Ravi
(d]  Jhelum

When the rivers discharge their waters from
all directions into a lake or depression, the
patiern i=s known as

{a} Trellis
{bh] Dendritic
{c} Eadial

{d) Centripetal

Which one of the following stetementa about
the Cariolis force is noi correct 7

{a) It is maximum at the Poles.
{h) It is absent at the Equator.

fe) It deflects the wind to Lthe righi direciion
in the asuthern hemisphere.

{@) Tt deflects the wind to the right direction
in the northern hemisphere.
Chronologically  arrange the following

treaties/conventions signed between the
Marathas and the Britich {starting with the
earliest) :

13 Treaty of Salhal

2, Treaty of Purandar

a Convention of Wadgaom
4, Treaty of Surat

Select the correct answer usiug the code given
below :

fad 4-2-3-1
{hy 4-3-2-1
fed  1-3-2-4
dy 1-2-34




45. Which of the following statements about the
Sanyasi and Fagir disturbancesfrebelliens are
correct ¥
1. Governor-General Warren Hastings
faced the persistent Sanyasi and Fagir
disturhances in Benpal and Bihar.

2. There were a number of Shaivite Naga
Banyasiz who formed inte armed bands.

3. Majonu Shah, whe led bands inte Bengal
from 1771, was their prominent leader.

Select the correct answer using the code given

helorw :

{a) 1and 2 cnly

by 1,2and3

icd  2and?3only

{d) 1and3only

48, In 1948, young leaders in which one of the
following distriets of Maharashtra set up a
parallel Government (prafi serker} with
volunteer corps (sevo dals) and village units
(tufan dals) ?

{a) Pune
{(h) Nasik
{c) Nagpur
{d) Satara

47. Who founded the Central Hindon Schoel at
Benaras which was later developed into
Benaras Hindu University ?
ia) Madan Mohan Malaviya ‘

{h} Annie Besant

{g) Ishwar Chandra YVidyasagar

(d) Madame HP. Blavateky
HANS-D-GML
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(15-A)

Which cne among the follewing is mel B

feature of centralization ?

{a) National unity

(b Uniformity
{c)  Prosperity
{d) Liberty

Which one of the following s nod an objective
of NITI Aayop 7

{a) It provides a critical direction and

strategic input for development procesa,

{by It functions as a ‘think tank’ in
providing key elements of policy.

(cd T omonitors and evaluates the
implementation of the programmes.

{d) It offers a platform for resolution of

inter-gtate conflicts as ‘provider of first

and last resort’.

Article 231 of the Constitution of India grants
power to establish 2 commen High Court for

two Or more states to

(a} the Parliament.

(k) the Supreme Court.
tc)  the President of India.
{d} the Union Cabinet.




51. Which c¢me among the following motions
cannol he made while intreducing an
ordinary Bill in the Parliament ?

{ay That the Bill be taken into consideration

(kY That the Bill be circulated for the
purpose of eliciting public opinien

{c) That the Bill be referred to a Select
Comimittee

{d) That the Bill be referred to a Joint
Committee of the House without the
concurrence of the other Houre

52, Which ome among the following was
eliminated by the 44'® Amendment Act of the
Parliament ?
fa) Bight against Exploitation
{b) Right to Constitutional Rernedies
{c}  Right to Property
{d) Right to Education

58. Identify the crop on the basiz of the following
characieristics :

1. It ia a kharif crop.

2. Aus, Aman snd Boro are its three
different prowing periods in  an
agricultural year.

3, About one-fourth of the total croepped
grea of India is under its cultivation. _

Salect the correct angwer using the code given

helow :

(a)  Wheat

th} Rice

{c} Pulses

{d} Cotton

XN E-0-GNL
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Which one of the following is a type of igneous
rock 7

(a) Marhle
(b) Halite
{c} {Granite
{d) Shale

Czone layer, which absorbs the ultra-violet
radiation, is found in which one of the
foliowing layers of the atrnosphere ?

{a) Ioncaphere
ib) Tropozphere
{c) Mesosphers

{(d) Btratosphere

Which ene of the following statements shout

primary waves of earthquakes is ref correct 7
{a) They are similar to sound waves.

{(h) They can travel only through solid
materialz.

{e} 'They travel through gaseous, hquid and
solid materiala.

(d) They move faster and are the first to
arrive at the aurface.




B7. Alluvial goils vary in nature from sandy loam 61. DNlatch List I with List IT and seleet the correct

answer using the code given below the lists :
to clay. They are generally

Liast I List 17
{a) poor in potash and rich in phosphorus. {Author) fPoetical work)
{b} poor in both potash and phosphorus, A.  Brindavan 1. Shivasankirttan
Das

ich in both potash and phosphorus.
N b e L B. Krishnadas 2. Chandimangal

{d} rich in potash and poor in phosphorus. Feqirad

C. Mukundarem 3. Chegoryecharitontrilo

88, Who among the following was popularly Chakravarti
knovm as 'Lokahitwads’ ? D. Rameshwar 4. Chnitanyomangal
Bhattacharya
Gopal Hari Deshmukh
] [ ari Des e
(b} Mahadev Govind Ranade A B C D
tc)  Gopal Krishna Gokhale {a) 4 2 3 1
4 3 2 1
(d) Jyotiba Phule gy
iy 1 3 2 4
89. Who among the following socialist activists dy 1 3 3 4

persuaded Gandhiji met to restriet the zalt
merch proteat to men alone ?

82. Which one of the following scholars of Akhar’s
court translated Bhaskaracharva's Lilevofi

{a) Karmaladevi Chattopadhyay : into Persian ?
(a) Abul Fazl
(h) Faixi

(b} Barojini Naidu

{¢y Mgtangini Hazra
i)  Fathullah Shirazi

{d) Ataullah Beshidi

{d} Mithuben Petit

80. Which one of the following painters was|gg Who among the following was the Chairman of

not associated with Humaynn # the Natiomal Cemmission for Review of the
Working of the Constitution (2000) ?

{a) Justice M.N. Venkatachaliah
(bl Justice J.5. Verma

tay  BMir Sayyid Ali
ikl Maulana Doat Musawir

()™ Rt {¢) Justice Ranganath Mishra

{d} Bihzad {d) Justice Y.K. Sabharwal

XvwS-D-GNL (19-A)




64. MM Punchhi Commission on Centre-State | 88.

Relations har recommended the disposat of a
bill reserved for the consideration of the Union
Executive within

(a} four months.

(b} six months.

fer  eight months.

(d} five months. go.

85. Who among the following founded the Marathi
newepaper ‘Keaari” ?

(a] Lokmanya Tilak
{b) Vallabhbhai Patel
{c) Lala Lajpat Hai
{d} Mgehatma Gandhi

86. Which mega public sector undertaking is
designated with Navratna' status ¥

{a) IndianOil Corporation Limited

ib) Gas Authority of India Limited

(c) Bharat Petroleum Corporation Limited
(d) Bharat Electronics Limited

B87. Which of the following statements with regard | T

to the creation of a new state or alteration of

boundsaries of staies isfare correct ?

1. An amendment has to be moved in the
Parliament under Article 368 of the
Constitution of India.

2.  Ratification by one half of the states is

necessary after the amendment in made
by the Parliament.

3. The legislation gan be passed by a
gimple majority of both Houses of
Parlizment.

Select the correct answer using the code given
below :

(a) 1and3only
(kY 2only
iy 3Jonly
(dt 2and3only

XWWS-D-GNL
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f21-4)

Which one of the following iz the
linguistic group of Indiz ?

(a) Sing-Tihetan
(kY Aunstric

fe)  Indo-Aryan
id) Dravidian

largest

Which one of the following water bodies
separates the Andaman and the MNicobar
islands ?

(a) Gulfof Mannar

(b} Ten Degree Channel
{c) Eleven Degree Channel
{d} Palk Strait

Which ene of the following longitudes is the
standard meridian of India ?

(a} 83°30'E

(b) 82°30'E

fe)  B2°30'W

td) 83730 W

Match List I with List II and select the correct
answer using the code given below the lists :

List I List IT
A,  Cyclones 1. Western Anstralia
B. Hurricanes 2. South China Sea
. Typhoons 3. Indian Ocean
D. Willy-willies 4. Aslantic Ocean
Code :

A B C D
tal 3 2 4 1
thy 3 4 2 1
LI el 4 2 3
dy 1 2 4 3




Which of the follewing isfare social security | 75.

T2,

scheme(s) ?

1.  Atal Pension Yojana

23 Pradhan Mantri Jeevan Jyoti Bima
Yojana

3. Pradhan Mantri Suraksha Bima Yojana

Select the correct answer using the code given

below :

(a) 1omly

(b} 2and3 only

fc} 1,2and3

tdl 1and3 only

73. Which one of the following units is net a part
of All India Radio’s Transeription and

Programme Exchange Service ?

{a) Central Archives

{b) Bound Archives

{c) Advanced Research Unit

{(d} Transcription Unit

T4, Which of the following statements about the

Pancliayati Raj Syatem are correct ?

1. All seats in a Panchayat are filled by
persons chosen by direct election.

2. The “Gram Sabha’ congists of persons
registered in the village electoral Tolls.

3. The Chairperaon of a8 Panchayat is
elected in accordence with & law passed
by each state.

4.  All states in India have a three-tier
systern of Panchayats,

Select the correct answer using the code given

below :

fa} 1=znddaonly

fthy 1,2 and 3 only

(e 2 and 8 only

td) 2,3 and 4 only

KWW S-D-GNL
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T7.

(23-A)

Which of the following statements isfare
correct ?

i The electioms to the Panchayat are

conducted by the BState Flecton
Commizsion,
2, The State Electon Commizgioner is

appointed by the Chief Election

Commissioner of India.

3. The State Legizlatures have the power
to make laws on all matters relating to
Panchayat clections.

Selact the correct angwer nsing the code given
belowr :

fa) Zonly

(b} 1and 2 only
(el  1,2and 3
td) 1and3only

Which one of the following is mo# & correct
description of the Union Cabinet ?

fa} Itis part of the Parliament.
(b} Itis responsibie to the Parliament.

{cd It remains in power till it enjoys the
confidence of the Parliament.

{d} A person frem outside the Parlinment
can never be appointed 2 rmember of the

Cabinet,

Which one of the following statements about
the composition of the Parliameni iz ot
correct ¥

fa) Representatives of the states in Rajya
Sabha are elected directly by the people.

fby  Representatives from Union Territories
in Lok Sabha are chosen by direct

elections.

fci Rajva Sabha has 12 nominated
memhbers,

(d) Lok Sabha has seats reserved for SCs
and 5Ts,




T8, Whick among the following fmuilamﬂntal!sl. Which one of the following is correct about

Tights isfare available to non-citizens ? ‘Pinakz’?
1. Freedorm of speech ' {a) Itis a multi-barrei rocket system.
Z Protection sgainst self-incrimination ! (b) Ttis atype of battle tank.
iy, (o Freatamm ol cangtientos {e) It is an advanced submarine.
4 Non-discrimination in  matters  of|
' id} It is an indigenously developed drone
employment -
! system.
Select the correct answer using the code given |
below : |82, Which one of the following is net a member of

iong ?
{a) 1,2and 3 only the Quad group of nations 7

{b} 1,3 and 4 only I ia) France

{c) 2and3 only | ) USA

{d} 2cnly {c) Aunstralia
id} Japan

79, Which gne of the following statements about
83. The first phase of Exercise Malabar, 2020 was

conducted at

the ¥ice-President of India is rot correct 7

ta) He ia not eligible for re-election.

1 (al Port Blair
(bY He muat not be lesa than 36 years of

age. ibl] Mumbai
fe}  He iz elected by members of an electoral {c) ¥isakhapatnam
college consisting of members of both ek

Housesz of Parliament.

(d}  His term of office is five years. 84. Hollywood actor Sir Sean Connery, who died
recently, wasa popularly Eknoewn for the

rl 1 of the rol
80. A motion of no-confidence is moved against L e i ke it

{a) an individual Minister. {al  Rocky

(bl the Council of Miniatera. {b) Captain Jack Sparrow
{¢) the Prime Minister. {t} Terminatnr

{d) 2 political party. (d} James Bond

WWS-D-GNL (25-A)




85. The Luhri Hydro-Electric Power Project is
being constructed on the river
{a} Satlyj
{b) Beas
(e} Ravi
(d} Chenab
88. ‘CARAT Bangladesh 2020° was a joint naval
exercise between Bangladesh and
(a} India
b) TUSA
(c} Japan
{d) Thriland
B7. Peninsula Shield Force is a military arm of
{a}) Organization of Islamic Cooperation
(b} Organization of the Petroleum
Exporting Countriea
(c) Gulf Cooperation Council
(d) Arab League

Which one of the following ships was involved

in ‘Miasion Sagar - 17" ?
() INS Shakti
{b) INS Vikramaditya
{c) INS Kesari

(d) INS Airavat

XVWS-D-GNL
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82,

(27 -A)

Aer

In the year 25}20 which ane of the following
tiger reserves of Indie was declared by
UNESC{O as a Bioaphere Reserve ©

(a) Panna Tiger Reserve
(b} MNamndapha Tiger Reserve
Dudhwa Tiger Reserve

{d) Pench Tiger Reserve

The Kaleshwaram Lift Drrigation System,
which waz m the news recently, ia constructed
in

fa) Keraia

thy Gujarat

{e} Telangana

{d) Maharashira

Cell wall iz mod present in cells of

(a] Bacteria
(b} Plants
{e} Fungi
{d) Humans

A child receives a tall beautiful plant asz a
birthday gift from his father with & quiz. The
father asked her how she would wverify
whether this tall plant was the progeny of
koth the tall parents or one tall and one short
parent plant. She could verify this through

(a)
{3

cross-pollination
self-pollination
fel  tissue culture

(d) negative propagation




B3. A student was doing an experiment on
inereasing the cell division among plants. She
agked her supervisor to suggest the specific
plant hormone for the same. Had you been her
supervisor, which plant hormone would you

uggest ?

(a)  Abseisic acid

{b} Gibberellins

{c) Cyiokinin

(d} Auxin

94. Which cell organelles have their own DNA and
Rihosomes 7
(e} {Golgi body and Endeplasmic Reticulum
(k) Mitochondria and Plastids
{e) Lysosome and Gaolgi body
{d) Vacuole and Plastids

85, Osmosie ia the process of mevement of water
molecules from its
(a) higher c¢oncentration to its lower

concentration through a cell wall,

(b  lower conceniratiom to its higher
concentration through a fully permeable
membranes,

(el higher concentration to its lower
concentration through a fully permeable
membrane.

{d) higher concentration to its lower
eomcentration through a semi-permeable
membrane.

98. Growing of two or more crops simuitansously
on the same field in a definite pattern is
Enown as
(a) mized cropping
(k)  inter cropping
{e)  mixed farming
{d} hybrid farming

MW S-D-GNL
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When we heat lead nitrate [Ph(N03)2] in a

boiling tuke, we observe the emission of brown
fumes, Which one of the following is the brown
gasz?

{a) NO
(h) N0,
e}  NO,
{d) NO,

Which one of the following substances do
silver articlea react with, that makes the silver
articles black 7

{a} Sulphur

(b) Oxygen

(e) Carbon dioxide
(@) Phosphorua

Which one of the following metals is kept
immersed in Kerosene oil to protect it and to
prevent accidental fire ?

{a) Caleaum

(b}  Sodium

fe) Wanadinm
(d) Magnesium

A solution econtaing 20 g of solute in 180 g of
zolvent. If the solvent is water, what ia the
concentration of the solution in terms of mass
by mass= percentage ?

(ay 11-1%
hy  22:2%
tel 1%
dy  20%




101, Which one of the following elements is
a non-metal but is lustrous ?

{a) Carbon

{by Silicon

(¢} Germanium
{d) ledine

Which one of the following metalz has beth
malleability and duetility properties 7

102,

(a)] Na
(bl  Am
e} Ce
(d) Hg

103. We are given three copper wires of different

lengthe and different areas of erosg-section. |

Which one of the following would have highest

resistivity 7

{(a} Copper wire of 50 em length and 1 mm
diameter

(b}  Copper wire of 25 cm length and 0-5 mm
diameter

(e} Copper wire of 10 cm length and 2-0 mm
diameter

(ddy AMl the wires would have szme
resigtivity
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104. Which of the following stetements about
fission’ is correet ?
ill. It iz related with the creation of new

individuais by means of cell division in

unicellular organism,

a, It iz related with the transformation of

heavier nuclei into amaller fuelel.

3. It iz related with the creation of a
heavier nueeled by means of combining
two higher nuclei.

Select the correct answer nsing the eode given

helow :
{a} 1omnly
{b} 2only
{c) 1andZ2enly
{d} 1 and 3 cnly
1685. Which one of the following i3 an electric
conductor 7
{a) A plastic sheet
tb) Distilled water
(el  Human body

fd) & wooden thin sheet

108. A non-zpherical shining speon can generally

ke considered as a

{a) Spherical mirror
(b} Parabolic mirror
{(c}  Plane mirror

(d) Lens

{3 -A)




107, Who amongst the following iz a pioneer in
discovering the heating effect of electric

current ?

{a} Isaac Newton
(b} Galileo Galilei
(¢} James P. Joule

(d} J.J. Thomson

10B. Which one of the following laws of
electromagnetiem does Aot give the direction
of magnetic field ?

{a) Right-hand thumb rule
(b} Fleming’s left-hand rule
(e} Fieming's right-hand rule

(d} PFaraday's law of clectromagnetic
induction

109. An antihictic iz not useful against a wvirus
whereas a wvaceine is. Which one of the
following is the most appropriate reason for
this ?

{a) An sntibiotic can bresk RNA only,

whereas virus has DNA.

(b} An antibiotic i= a carbohydrate in its
chemical nature, whereas & vaeccine is a
protein which works well to 151 a virus.

() Only a vaccine can break the genetic
material of a virna.

(d}y A wviruz does not use biochemical
pathways which can be blocked by an
antibiotic. But a3 vaccine can boost an
immmune system to fight the virus.

116.

111.

112,

113,
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‘Bleeping sickness’ is caused by

(e} Trypanosoma

{h} Leishmania

ey Plasmodium

{d) Paramecium

Which one among the following is a free living
animal ?

{a) Liver fluke

(b} Wuchereria

fcy  Plasmodium

(d} Planaria

Which ene of the following ia the structure of &

cardiac musele eell ?

{a) Cylindricsl, Unbranched and
Muitinucleate

fb} Spinal shaped, Unbranched and
Uninucleate

(el Spinsl shaped, Branched and
Tninucleate

(d) Cylindrical, Branched and TThinucleate
Which one of the following naturally occurring
acids is found in abundance in tomato 7

(a) Acetic acid

iby  Citric acid

{c}  Ozalic acid

(d} Tartaric acid




114. Which one of the following 1s used in sods-acid |11T. How many internal reflections of light take

fire extinguishers ?

(a) Sodiam chloride

_Iib) Sodinm hydrogen carbonate
{c}! Caleinm hydroxide

(d} Acetic acid

118. Which one of the following sodium compounds

is used for seftening hard water ?

{a) Na,COg
(b} NaHCO,
{c) NaOH
(d) Nay80,

114. Calcium oxide reacts vigorously with water to
produce slaked lime whose solution is uzed for
white-washing walls. This slaked lime reacts
with component (A} in air te form a thin layer
of component {B) to give a shiny finish. What

are the compenents (A} and (B3 ?

{a) A-0,; B-CaCOy

(b} A-CO;; B-Ca(OH),

(¢} A-0,; B—Ca(OH),

iy A-CO,; B-CsCO,
XVWS-D-GNL
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118,

120.
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place in the formation of primary rainbow ?

{a} 0
b 1
e} 2
(dy  More than 2

The direction of accelerstion in uniform

circular motion is alomp the

fa) direction of motion.

{b} tangent to the crcle at the point of
observation.

(c}  direction of veleeity.

(d] direction perpendicular to velocity.

The weight of an object iz due to

{a} the net force acting on it.

(b} the total of all forees sacting on it
irrespective of their dircections.

{c}  the foree that it exerts on the ground.

{(d} its inert property.

The pize of particles being studied in

‘nano-technology’ is about

(@) 1A-10nm

(b} 1-—10¢nm

@) 1-50p

(d) 1 mm-10mm
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